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Instructions / સૂચના
Candidate must ensure compliance to the instructions mentioned below, else objections 
shall not be considered: - 
(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically. 
(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet) 

published on the website. 
(3) All suggestions are to be submitted with reference to the Master Question Paper with 

provisional answer key (Master Question Paper), published herewith on the website. 
Objections should be sent referring to the Question, Question No. & options of the Master 
Question Paper.  

(4) Suggestions regarding question nos. and options other than provisional answer key (Master 
Question Paper) shall not be considered. 

(5) Objections and answers suggested by the candidate should be in compliance with the 
responses given by him in his answer sheet. Objections shall not be considered, in case, if 
responses given in the answer sheet /response sheet and submitted suggestions are differed. 

(6) Objection for each question shall be made on separate sheet. Objection for more than one 
question in single sheet shall not be considered & treated as cancelled. 

ઉમેદવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અંગ ેકરલે રજૂઆતો իયાને
લેવાશે નહી ં
(1) ઉમેદવાર ેવાધંા-સચૂનો િનયત કરવામા ંઆવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે. 
(2) ઉમેદવાર ેԐՇԐમાણે વાધંા-સચૂનો રજૂ કરવા વેબસાઈટ પર Ԑિસիધ થયેલ િનયત વાંધા-સૂચન પԋકના નમૂનાનો જ

ઉપયોગ કરવો.
(3) ઉમેદવાર ેપોતાન ેપરીԟામા ંમળેલ ԐՇપુિչતકામા ંછપાયેલ ԐՇԃમાંક મુજબ વાંધા-સૂચનો રજૂ ન કરતા તમામ વાંધા-

સૂચનો વેબસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અન ેતે સંદભӪમાં
રજૂ કરવા. 

(4) માչટર ԐՇપԋ મા ંિનિદӪ Ջ ԐՇ અને િવકճપ િસવાયના વાંધા-સચૂન իયાન ેલેવામાં આવશ ેનહી.ં 
(5) ઉમેદવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અન ેિવકճપ ԁપ ેજ ેજવાબ સચૂવેલ છે એ જવાબ ઉમેદવાર ેપોતાની

ઉԱરવહીમા ંઆપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવેલ જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશ ેતો ઉમેદવાર ેરજૂ
કરલે વાંધા-સચૂન իયાનમા ંલેવાશ ેનહી.ં 

(6) એક ԐՇ માટે એક જ વાંધા-સૂચન પԋક વાપરવું. એક જ વાંધા-સૂચન પԋકમા ંએકથી વધાર ેԐՇોની રજૂઆત કરલે
હશે તો ત ેઅંગેના વાધંા-સચૂનો իયાન ેલેવાશ ેનહી.ં 
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001. „wshkŒ™k ™e[u Ëþkoðu÷ ¼q «Ëuþku™e ÞkËe I y™u Œu™e ‚k{u Ëþkoðu÷ rðrðÄ …tÚkfku ™e ÞkËe II ‚kÚku  ÞkuøÞ ¢{{kt  „kuXðku.
 ÞkËe I  ÞkËe II

(1)  fåA (a) ðrZÞkh, ZkZh, [kuhkz, …kxýðkzk

(2)  (Œ¤ „wshkŒ) W¥kh (b) ¼k÷ ™¤fktXk, fw™uh

(3)  Ërûký-…rù{ (c) ƒLLke, yƒzk‚k, «kÚkLz „hzku

(4)  {æÞ (d) ðktf¤, ‚t¾uzk, ftXk¤
(A) 1 - c,  2 - b,  3 - a,  4 - d (B) 1 - d,  2 - a,  3 - c,  4 - b
(C) 1 - c,  2 - a,  3 - d,  4 - b (D) 1 - a,  2 - b,  3 - c,  4 - d

002. ‚t„eŒþkMºk rðþu «[wh «{krýf ‚k{„úe yk…™kh „útÚk fÞku Au ?

(A) «rðý‚k„h (B) ðýof‚{wå[Þ

(C) Zku÷ ‚k„h (D) ¼hŒ™kxâ þkMºk

003. “rðïfkuþ” ‚tMÚkk™wt fÞwt ‚t…fo…ºk Ëh {rn™u r™Þr{Œ «„x ÚkkÞ Au ?

(A) þçË ‚]rü (B) …hƒ
(C)  rðïrðnkh (D) ™ð™eŒ ‚{…ýo

004. ¼hŒ‚kuÞÚke ¼hkŒwt y™u ¼hu÷k ¼hŒfk{™u .......... fnu Au.

(A) ¾[eŒ{ (B) fÚke…ku

(C) ðkzeðu÷ku (D) ykhe

005. ¼ðkE™ku ykht¼ fÞk rðrþü ÷kufðkãÚke fhðk{kt ykðu Au ?

(A) þhýkE (B) Œƒ÷kt

(C) ™„kÁt (D) ¼qt„¤

006. ™e[u™e ‚tMÚkkyku y™u ‚tMÚkk…fku …ife fE òuze ‚k[e ™Úke ?

(A) r™nkrhfk õ÷ƒ  –  ƒ[w¼kE hkðŒ (B) „ktÄðo r™fuŒ™  –  …trzŒ yku{fkh™kÚk Xkfwh

(C) ™kxâ ‚t…Ëk  –  s‚ðtŒ Xkfh (D) ðkMŒwrþÕ…  –  ƒk÷ f]»ý Ëkuþe

007. òýeŒk r[ºkku - ™h®Mkn {nuŒk, {wtò÷, f]r»kfLÞk, Þ{ ™r[fuŒk, [tËk…ku¤e, nu{[tÿk[kÞo, {ehktçkkE rð„uhu fÞk «r‚Ø
r[ºkfkh™k r[ºkku Au ?

(A) r…hkS ‚k„hk (B) ‚ku{k÷k÷ þkn
(C) hr‚f÷k÷ …he¾ (D) hrðþtfh hkð¤

008. ‚t„eŒ™k ‚qh™wt «Ëk™ fhðkðk¤k «r‚Ø 56 ™¬kþefkh MŒt¼kuðk¤wt rðsÞrðê÷ {trËh fâkt ykðu÷wt Au ?

(A) ƒu÷wh (B) ¼ÿk[÷™

(C) nB…e (D) ©e ht„{

009. “yk ™]íÞ{kt ƒu xwfzeyku nkuÞ Au, yuf Mºke y™u yuf …wÁ»kyuðe „kuXðýe{kt yuf ƒeò™e fB{hu nkÚk hk¾e ™]íÞ fhu Au”
yk ÿ~Þ fÞk ™]íÞ{kt òuðk {¤u Au ?

(A) …Zkh ™]íÞ (B) nk÷e ™]íÞ

(C) ‚eËe  ™]íÞ (D) zkt„e ™]íÞ

010. ™e[u™k …ife fÞk ŒÏ¾÷q‚™u sýkðu÷ ‚krníÞfkh ‚kÚku ÞkuøÞ heŒu òuzu÷ ™Úke ?

(A) XkuX r™þkr¤Þku  –  r„sw¼kEƒÄufk (B) ðk[M…rŒ  –  h{ý÷k÷ …kXf

(C) fÚkf  –  „w÷kƒËk‚ ƒúkufh (D) ðiþt…kÞ™ –  fh‚™Ëk‚ {kýuf
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011. ™e[u™k …ife ÉøðuË™k fÞk ‚qõŒ{kt ðýo™e Wí…r¥k rðþu™ku WÕ÷u¾ {¤u Au ?

(A) ™k‚ËeÞ ‚qõŒ (B) …wÁ»k ‚qõŒ

(C) ‚ku{ ‚qõŒ (D) Ä{o ‚qõŒ

012. f™iÞk÷k÷ {wLþe™e fE f]rŒ{kt …kxý™k rð™kþ™e fÚkk yk÷u¾ðk{kt ykðe Au ?

(A) …kxý™e «¼wŒk (B) sÞ‚ku{™kÚk

(C) ¼ø™…kËwfk (D) „wshkŒ™ku ™kÚk

013. WËÞr„he™e „wVkyku fÞk yr¼÷u¾ {kxu «r‚Ø Au, fu su™u ƒúkñe r÷r…{kt fkuŒhðk{kt ykÔÞku  nŒku ?

(A) {unhki÷e yr¼÷u¾ (B) YrB{™ËuE MŒt¼÷u¾

(C) nkÚke„wVk yr¼÷u¾ (D) yunku÷ yr¼÷u¾

014. nzÃ…k y™u {kunU-òu-Ëzku™e ‚ktMf]rŒf rðþu»kŒk ËþkoðŒw fÞwt rðÄk™ ‚k[wt Au ?

(A) ÷kufku ËkY sw„kh™k þku¾e™ nŒk. (B) ÷kufku {kuxu ¼k„u r‚ÔÞk ð„h™k ðMºkku …nuhŒk.

(C) hÚk nheVkE ðkhtðkh ÞkusŒk. (D) ÷kufku ykVŒ ‚{Þu rðrðÄ ™k™k {kuxk Þ¿kku fhŒk.

015. “„ku…Úk”™k{u „útÚk ™u fÞk ðuËfk÷e™ ‚krníÞ™k rð¼k„{kt {wfþku ?

(A) W…r™»kË (B) ƒúkn{ý

(C) ðuËkt„ (D) ykhÛÞfku

016. ¼khŒ{kt ykðu÷ ™e[u sýkðu÷ si™ ŒeÚkoMÚkk™ku …ife fÞk ŒeÚkoMÚk¤™ku ‚{kðuþ ÚkŒku ™Úke ?

(A) …k÷eŒkýk{kt þuºkqtsÞ …ðoŒ (B) rƒnkh{kt [ki‚k

(C)  ðzkuËhk™e ™Sf yfkuxk (D) ™k„…è{, Œr{÷™kzwt

017. „wÃík ðneðx Œtºk{kt Œk÷wfk {kxu fÞku þçË «ÞkuòŒku nŒku ?

(A) „kuÃíkk (B) rð»kÞ

(C) rðíÚk (D) îkrhf

018. “®÷„hks “ y™u “hkshkýe”™k ‚w«r‚Ø {trËhku fÞk MÚk¤u ƒtÄkÞu÷k Au ?

(A) ¾sqhknku (B) ¼wð™uïh

(C)  fku™kfo (D) hkt[e

019. ‘MðÃLkðk‚ðË¥kk’™k{u ‚w«r‚Ø ™kxâ„útÚk™k ÷u¾f fkuý nŒk ?

(A)  ƒký¼è (B) ¼ð¼qrŒ

(C)  ¼k‚ (D) ¼hŒ {wr™

020. sðknh÷k÷ ™unY™e ‚¼k™u ‚{ktŒh $Ëw÷k÷ Þkr¿kf($Ëw[k[k)™e ‚¼k{kt “r‚‚f hne „ktÄe fe ÄhŒe, rƒ„z „E sƒ
ƒkŒ” „eŒ fkuýu „kÞwt nŒwt ?

(A) ™khkÞý {kuhuïh ¾hu (B) rË÷e… Äku¤rfÞk

(C) frð «rË… (D) {Þwheƒu™ ¾hu

021. ¼khŒeÞ r‚rð÷ ‚uðk (Indian Civil Services){kt ¼khŒeÞku™u ÚkŒku yLÞkÞ Ëqh fhðk yktËku÷™ s„ð™kh fkuý nŒk ?

(A) ËkËk¼kE ™ðhkusS (B) hkòhk{ {kun™hkÞ

(C) ‚whuLÿ™kÚk ƒu™hS (D) LÞkÞ{qrŒo hk™zu
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022. fE Ëh¾kMŒku™u „ktÄeSyu “Ëuðkr¤Þk ƒìLf™e ðeŒe „Þu÷ Œkhe¾™e nqtze yÚkðk ¼rð»Þ™e Œkhe¾ ™ku [uf” fne ð¾kuze
fkZe nŒe ?

(A) ykì„Mx Ëh¾kMŒ (B) {kWLxƒux™ Ëh¾kMŒ

(C) r¢Ã‚ Ëh¾kMŒku (D) r‚{÷k Ëh¾kMŒku

023. fÞk  hkòyu nk÷™k  y{ËkðkË ™Sf ykþk…Õ÷e (y‚khðk)™k ¼e÷ ‚hËkh ykþk™u nhkðe fýkoðŒe ™„h  ð‚kÔÞwt ?

(A) fýoËuð ðk½u÷k (B)  fýoËuð ‚ku÷tfe

(C) ¼e{Ëuð (D) ‚kht„Ëuð

024.  ykÍkËe …Ae ¼khŒ{kt  ‚t½ hkßÞku™e h[™k (…w™„oX™)¼k»kk™u ykÄkhu ™ fhŒkt ðneðxe Äkuhýu fhðk™e ¼÷k{ý «Úk{
fku™k îkhk fhðk{kt ykðe nŒe ?

(A) su.ðe.…e. ‚r{rŒ (B) Äh …t[

(C) hkßÞ …w™„oX™ …t[ (D) fkU„úu‚ fkÞo‚r{rŒ

025.  „wshkŒ™k Ëuþe hkßÞku …ife fåA™k fÞk hksðeyu ¼ws{kt ‚tMf]Œ …kXþk¤k, VøÞwo‚™ BÞwrÍÞ{ y™u …wMŒfk÷Þ™e MÚkk…™k
fhe ?

(A) ÷¾Äeh®MknS (B) ¼„ðŒ®MknS

(C) hkð ¾U„khS (D) ÷k¾kS hksu

026. ¼khŒ™u fÞk ‚t„X™™e ‚ËMÞŒk «kÃík ÚkE ™Úke, fu su ¼khŒ™e rðËuþ ™erŒ™ku {níðkfktûke ÷ûÞktf Au ?

(A) r{‚kR÷ xuõ™ku÷kuS ftxÙku÷ hurÍ{ (B) ðk‚u™kh yuhUs{Ux

(C) …h{kýw yk…qrŒofŒko ‚t„X™ (NSG) (D) ykuMxÙur÷Þk „úq…

027. ¼khŒ™k ƒtÄkhý{kt 10{e y™w‚qr[ ‚tË¼o{kt ™e[u™k ðkfâku [fk‚e ÞkuøÞ rðfÕ… …‚tË fhku.

(1) 52{k ƒtÄkhýeÞ ‚wÄkhku 1985 îkhk 10{e y™w‚qr[ òuzðk{kt ykðe.

(2) …ûk…÷xk rðhkuÄe fkÞËk™e òu„ðkE Œu{kt fhðk{kt ykðe Au.

(3) “s{e™ ‚wÄkh y™u s{e™ ‚t…kË™” yt„u™k fkÞËkyku ‚{krðü Au.

W…h{ktÚke þwt ‚k[wt Au ?

(A)  1 y™u 2 (B) 1, 2 y™u 3

(C) 1 y™u 3 (D) 2 y™u  3

028.  hkßÞ‚¼k™k ‚ÇÞku fku™k îkhk [qtxkÞ Au ?

(A) ÷kuf‚¼k™k ‚ÇÞku îkhk (B) ÷kufku îkhk «íÞûk heŒu

(C) hkßÞ™e rðÄk™‚¼k™k ‚ÇÞku îkhk (D) ÷kuf‚¼k y™u hkßÞ™e rðÄk™‚¼k™k ‚ÇÞku îkhk

029.  “ƒtÄkhý™wt yk{w¾ ƒtÄkhý™e ykí{k Au, ƒtÄkhý™e [kðe Au. ƒtÄkhý™wt yk¼q»ký Au” yk rðÄk™ ƒtÄkhý™k yk{w¾
‚tË¼uo fkuýu fÌkwt nŒwt ?

(A) yu™. yu. …k÷¾eðk÷k (B) …trzŒ XkfwhËk‚ ¼k„oð

(C) LÞkÞ{qrŒo rnËkÞŒwÕ÷k (D) ‚h y™uoMx ƒkhfh

030. fÞk ƒtÄkhýeÞ ‚wÄkhk îkhk “{nk™„heÞ ykÞkus™ ‚r{rŒ” ™e òu„ðkE fhðk{kt ykðe ?

(A) 74{ku ƒtÄkhýeÞ ‚wÄkhku (B)  73{ku ƒtÄkhýeÞ ‚wÄkhku

(C) 64{ku ƒtÄkhýeÞ ‚wÄkhku (D) W…hkuõŒ …ife yuf …ý ™nª
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031. rðï rðæÞk÷Þ y™wËk™ ykÞku„ (University Grants Commission) .......... «fkh™e ‚tMÚkk Au.

(A) ƒtÄkhýeÞ (B) r™Þ{™fkhe

(C) yÄoLÞkrÞf (D) ðiÄkr™f

032. ¼khŒ™khk»xÙ…rŒ y™u hkßÞ…k÷ ‚k{u™e fkÞoðkne ‚tƒrÄŒ fÞwt /fÞk rðÄk™ / rðÄkLkku ‚k[wt / ‚k[k Au ?

(1) Œu{™k fkÞofk¤{kt fhu÷k fkÞo {kxu Ëuþ™k fkuE…ý LÞkÞk÷Þ{kt …zfkhe þfkþu ™nª.

(2) fkÞofk¤  Ëhr{Þk™ Œu{™e ‚k{u fkuE …ý LÞkÞk÷Þ{kt Äh…fz fu su÷ðk‚ ‚tƒrÄŒ «r¢Þk ÚkE þfu ™nª.

(3) Œu{™k ÔÞrõŒ„Œ fkÞo ƒË÷ …ý Œu{™u  ƒu {rn™k™e ™kurx‚ …Ae s rËðk™e fkÞoðkne fhe þfkÞ.

(A) VõŒ 1 y™u 2 (B) VõŒ 2 y™u 3

(C) 1, 2, y™u  3 (D) VõŒ 1 y™u 3

033.  Äkhk‚¼k™wt  ™e[÷wt „]n fÞk ™k{Úke yku¤¾kÞ Au ?

(A) LÞkÞŒtºk (B) rðÄk™ …rh»kË

(C) rðÄk™‚¼k (D) ÷kuf‚¼k

034.  ¼khŒ™e ‚ðkuoå[ ‚tMÚkk ‚t‚Ë{kt fux÷k „]n nkuÞ Au, y™u ™e[÷k „]n{kt ‚ÇÞ ‚tÏÞk fux÷e Au ?

(A) ƒu „]n,y™u ™e[÷k „]n{kt 550 ‚ÇÞku (B)  ºký „]n,y™u ™e[÷k „]n{kt 245  ‚ÇÞku

(C)  ƒu „]n,y™u ™e[÷k „]n{kt 545 ‚ÇÞku (D) yk{ktÚke yuf …ý ™nª

035. {q¤¼qŒ yrÄfkhku{kt fE ƒkƒŒ™e MðŒtºkŒk ™Úke ?

(A) rð[kh ÔÞõŒ fhðk™e (B) þktrŒ…qðof «Ëþo™ fhðk™e ™erŒ

(C) ¼k»ký yk…ðk™e (D) nzŒk÷ fhðk™e

036.  hkßÞ™erŒ™k {k„oËþof r‚ØktŒku rðþu ™e[u™k rðÄk™ku ðkt[ku.

(1) ™erŒ r™Ëuoþf Œíðku™ku WÆu~Þ Ëuþ{kt ‚k{krsf y™u ykrÚkof ÷kufŒtºk MÚkkr…Œ fhðk™ku Au.

(2) ™erŒ r™Ëuoþf Œíðku™u ™irŒf y™u hksfeÞ {kLÞŒk «kÃík Au.

W…hkuõŒ …ife fÞwt / fÞk rðÄk™ / rðÄkLkku ‚k[wt /‚k[kt Au ?

(A)  {kºk 1 (B) {kºk 2

(C) 1 y™u 2 (D) ƒt™u{ktÚke yuf …ý ™nª.

037. 73{k ƒtÄkhýeÞ ‚wÄkhk ytŒ„oŒ, 11{e y™w‚qr[{kt ‚{krðü …t[kÞŒ™k 29 rð»kÞku …ife fÞk rð»kÞ™ku ‚{kðuþ ÚkŒku
™Úke ?

(A) f]r»k su{kt f]r»krðfk‚ / rðMŒkh™ku ‚{kðuþ (B) s{e™ ð…hkþ y™u {fk™ku™k ƒktÄfk{™k rðr™Þ{ku

(C) „heƒe WL{q÷™ fkÞo¢{ (D) rƒ™ …ht…hk„Œ WòoMºkkuŒ

038.  E.‚. 2014 {kt  ‚wþk‚™ yt„u ‚hfkh îkhk fÞku ™khku yk…ðk{kt ykÔÞku ?

(A) ‚wþk‚™ {kxu rðrÄ(fkÞËk)™wt þk‚™ (B) ÷½w¥k{ ‚hfkh,{n¥k{ þk‚™

(C) ™erŒ ½zŒh yus hkßÞ ðneðx™ku ‚kh (D) …khËrþoŒk y™u W¥khËkrÞíð Úke ÷kuf‚uðk

039. ™erŒ ykÞku„ îkhk fÞk ûkuºku ™ðe …nu÷ ÚkE Au ?

(A) {k¤¾k„Œ ‚ð÷Œku (B) r™Þ{™fkhe ‚wÄkhk fk™q™

(C) yx÷ E™kuðuþ™ r{þ™ (D) W…hkuõŒ Œ{k{
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040. ¼khŒ™k ƒtÄkhý™k fÞk y™wåAuË{kt hkßÞ îkhk Mºkeyku y™u ƒk¤fku {kxu rðþu»k ÔÞðMÚkk(y™k{Œ)™e Aqx yk…ðk{kt
ykðe Au ?

(A) y™wåAuË 15(III) (B) y™wåAuË-22

(C) y™wåAuË 21 (D) y™wåAuË-24

041. ¼khŒ{kt Wãku„ku™wt ð„eofhý þk™u ykÄkhu fhðk{kt ykðu Au ?

(A) W…Þku„, Wí…kË™™e …ØrŒ (B) {qzehkufký™wt «{ký y™u W…Þku„

(C) {kr÷fe, W…Þku„ y™u {qzehkufký™wt «{ký (D) xuõ™ku÷kìS, {kr÷fe y™u W…Þku„

042. ™e[u yk…u÷ ¼khŒ ‚hfkh™k hkus„kh ‚so™ y™u „heƒe r™ðkhý fkÞof{{kt fÞk yuf fkÞo¢{™ku ‚{kðuþ ÚkŒku ™Úke ?

(A) {nkí{k „ktÄe hk»xÙeÞ „úk{eý hkus„kh „uhtxe Þkus™k

(B) hk»xÙeÞ „úk{eý ykSrðfk r{þ™

(C) MðýosÞtrŒ  þnuhe hkus„kh Þkus™k

(D) hk»xÙeÞ ‚k{krsf ‚whûkk Vtz

043. ¼khŒ ‚hfkhu WËkhefhý, ðirïfefhý y™u ¾k™„efhý™e ™ðe ykiãkur„f ™erŒ fE Þkus™k Ëhr{Þk™ y…™kðe ?

(A) ‚kŒ{e Þkus™k (B) ykX{e Þkus™k

(C) ™ð{e Þkus™k (D) Ë‚{e Þkus™k

044. MSMEs {kt fÞk ûkuºk™k yuf{ku ‚kiÚke ðÄw Au ?

(A) {kºk xfkW ð…hkþe [eòu (B) Wãku„ku

(C) ‚uðkyku (D) ¾uŒe

045.  “„ktÄeÞ™ Ã÷k™”fkuýu  ŒiÞkh fÞkuo nŒku ?

(A) {nkí{k „ktÄe (B) sÞ«fkþ ™khkÞý

(C) sðknh÷k÷ ™nuÁ (D) ©e{™T ™khkÞý

046. ¼khŒ{kt ykðf …ØrŒÚke hk»xÙeÞ ykðf™e „ýŒhe fhðk{kt fÞk ûkuºk ™ku ‚{kðuþ ÚkkÞ Au ?

(A) ðes¤e, huÕðu, ‚t[kh, ‚thûký (B) ¾uŒe, {kAe{khe, ‚t„ún, ÔÞk…kh

(C) ònuh ðneðx, MÚkkðh r{÷fŒku, ƒktÄfk{ (D) ‚t„rXŒ y™u y‚t„rXŒ {k„o y™u s¤ …heðŒo™

047. ™e[u™k rðÄk™ku ðkt[ku.

(1) ¼khŒ{kt ¾uŒe ûkuºk ‚kiÚke ðÄw hkus„khe …qhe …kzu Au.

(2) ¼khŒ{kt ‚kiÚke ðÄw hkus„khe y‚t„XeŒ ûkuºku «kÃík ÚkkÞ Au.

(3) ¼khŒ{kt ¾uŒe ûkuºku hkus„khe™wt «{ký ½xŒwt òÞ Au.

(4) ¼khŒ{kt ¾uŒe ûkuºku Mºkeyku™k hkus„khe™k «{ký{k Íz…e ½xkzku ÚkŒku ™Úke.

W…h™k{kt Úke þwt ‚k[wt Au ?

(A) 1, 2, 3 y™u 4 (B) 1, 3 y™u 4

(C) 2 y™u 4 (D) 1 y™u 3

048. ƒUfku™k  rðrðÄ «fkh™k ATM …ife ykuhuLs ÷uƒ÷ ATM fÞk ÔÞðnkhku {kxu hk¾ðk{k ykðu Au ?

(A) E-fku{‚o {kxu (B) {rn÷k ƒUfe„ {kxu

(C) þìh™k ÔÞðnkhku {kxu (D) f]r»k ÔÞðnkhku {kxu
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049.  “‚w„BÞ  ¼khŒ yr¼Þk™”  þu™k {kxu™e Íwtƒuþ Au ?

(A)  ‚{„ú ¼khŒ™k Œ{k{ „k{zkyku™u hMŒk òuzký …qhk …kzðk™e Íwtƒuþ.

(B) ‚{„ú ¼khŒ™k Œ{k{ „k{zkyku™u {kuƒkR÷Vku™ f™urõxrðxe …qhe …kzðk™e Íqtƒuþ.

(C) ‚{„ú ¼khŒ™k Œ{k{ „k{zkyku™u RLxh™ux  ‚wrðÄkyku  …qhe …kzðk™eÍqtƒuþ.

(D) rðf÷kt„ ÷kufku™u ‚{k™ Œf W…÷çÄ ÚkE þfu Œu {kxu ‚kðorºkf ‚w÷¼Œk …qhe …kzðk™e Íqtƒuþ.

050 fE ‚tMÚkk / {tºkk÷Þ îkhk ‘„úkLz R™kuðuþ™ [u÷uLs’ þY fhðk{kt ykÔÞwt ?

(A) r{r™MxÙe ykuV ‚kÞL‚ yuLz xuõ™ku÷kìS

(B) ™erŒ ykÞku„

(C) r{r™MxÙe ykuV rMf÷ zuð÷ku…{uLx yuLz yuLxhr«™kuÞhþe…

(D) ™uþ™÷ rMf÷ zuð÷ku… fku…kuohuþ™

051.  ‚w«e{ fkuxuo 2001{kt Ëhuf hkßÞ{kt fE Þkus™k™ku VhrsÞkŒ heŒu y{÷ fhðk™ku ykËuþ ònuh fÞkuo nŒku ?

(A) ytíÞkuËÞ Þkus™k (B) ƒkr÷fk ‚{]rØ Þkus™k

(C) {æÞkn™ ¼kus™ Þkus™k (D) …trzŒ Ëe™ËÞk÷ W…kæÞkÞ ykðk‚ Þkus™k

052.  ¼khŒ™k  ™kýk…t[ ƒkƒŒu ™e[u™k rðÄk™ku [fk‚ku.

(1) su ƒtÄkhýeÞ ‚tMÚkk Au, su™wt „X™ y™wåAuË 280 {wsƒ hk»xÙ…rŒ  fhu Au.

(2) hk»xÙ…rŒyu r™{u÷k yæÞûk y™u yLÞ 6 ‚ÇÞku™wt ƒ™u÷wt nkuÞ Au.

(3) yuf ƒtÄkhýeÞ  ‚tMÚkk Œhefu {n¥ð™e ‚tMÚkk Au.

W…hkuõŒ …ife fÞwt / fÞk rðÄk™ / rðÄkLkku ‚k[wt / ‚k[kt Au ?

(A) {kºk 1 (B) {kºk 1 y™u 2

(C) {kºk 1 y™u 3 (D) 1, 2 y™u 3

053. r[hkuze™wt ‚kiÚke ðÄw Wí…kË™fÞk hkßÞku{kt ÚkkÞ Au ?

(A) yktÄú«Ëuþ, rn{k[÷«Ëuþ (B) sB{wfk~{eh, fýkoxf

(C) hksMÚkk™, Œr{÷™kzwt (D) W¥kh«Ëuþ, „wshkŒ

054. ‚kiÚke ðÄw „úk{eý …wY»k ‚kûkhŒk ÄhkðŒku rsÕ÷ku ™e[u™k …ife fÞku Au ?

(A)  ykýtË (B) ðzkuËhk

(C) ¾uzk (D) {nu‚kýk

055. ‚kihk»xÙ {kÞku‚e™ MŒhku …h r[hkuzeÞwõŒ  {kxe ŒÚkk huŒk¤ [w™k™k ¾zfku™k MŒh™e h[™k ÚkÞu÷e Au su .......... Œhefu
yku¤¾kÞ Au.

(A) rËÕne MŒh (B) îkhfk MŒh

(C) …kuhƒtËh MŒh (D) sw™k„Z MŒh

056. …kAk VhŒk {ki‚{e …ð™ku™k ykuõxkuƒh y™u ™ðuBƒh {k‚™k ‚{Þ™u fÞk ™k{u yku¤¾ðk{kt ykðu Au ?

(A) ð»kko ‚t…kŒ (B) þhË ‚t…kŒ

(C) rð»k{ (D) ‚{ ‚t…kŒ

057. yirŒnkr‚f þuhþkn ‚qhe {k„o fÞku hk»xÙeÞ Äkuhe{k„o Au, y™u Œu fÞk fÞk þnuhku™e ðå[u òuzkÞu÷ku Au ?

(A) hk»xÙeÞ Äkuhe {k„o-2  rËÕne y™u fku÷f¥kk (B) hk»xÙeÞ Äkuhe {k„o-8 rËÕneÚke {wtƒE

(C) hk»xÙeÞ Äkuhe {k„o-1 rËÕneÚke y{]Œ‚h (D) hk»xÙeÞ Äkuhe {k„o-24 rËÕneÚke ÷¾™ki
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058. ¼khŒ™k ÷ktƒk ‚{wÿrf™khk …h fux÷k {wÏÞ ƒtËhku y™u fux÷k ™k™k ƒtËhku Au ?

(A) 13 {wÏÞ ƒtËhku, 200 ™k™k ƒtËhku (B) 5  {wÏÞ ƒtËhku, 200 ™k™k ƒtËhku

(C) 7 {wÏÞ ƒtËhku, 180  ™k™k ƒtËhku (D) 11 {wÏÞ ƒtËhku, 190 ™k™k ƒtËhku

059. fk¤e s{e™ (Black Soil)™u ƒeò fÞk ™k{ / ™k{kuÚke yku¤¾kÞ Au ? ™e[u yk…u÷ fkuz™ku W…Þku„ fhe ‚k[ku sðkƒ þkuÄku

(1) hu„qh          (2) fk¤e f…k‚™e s{e™  (3) rð»kwðð]rŒÞfk¤e s{e™  (4) rð»kwðð]rŒÞ [™kuoÍ{

(A)  {kºk 2 y™u 3 (B) {kºk 1 y™u 4

(C) {kºk 1 (D) 1, 2, 3 y™u 4

060. ykuÕzr[fk, fq„o, fUx, yu‚-288, yu‚-795 y™u yu‚-1934 yu fÞk «fkh™k …kf™e rðrðÄ òŒku Au ?

(A)  [k (B) zkt„h

(C)  þuhze (D) fkuVe

061. fÞk ð]ûkku™wt  …ku[wt - ™h{ ÷kfzwt f~{eh™e fkc f÷k rðfk‚{kt W…Þku„e ÚkkÞ Au ?

(A) ykuf (B)  Vh, ËuðËkh

(C) r[™kh y™u y¾hkux (D) ‚k÷ ð]ûk

062. ¼khŒ™e W¥khu-…rù{u fÞk Ëuþ™e ¼qr{ ‚e{k M…þuo Au ?

(A) [e™ (B) …krfMŒk™

(C) yV½kr™MŒk™ (D) BÞk™{kh

063.  Ëwr™Þk{kt ¼køÞu s {¤Œwt fÞwt ¾r™s ƒ™k‚fktXk rsÕ÷k™k …k÷™…wh Œk÷wfk™k „k{ku{ktÚke {¤e ykÔÞwt Au ?

(A) ƒUxku™kEx (B) ðw÷uMxku™kRx

(C) r[hkuze (D) „úuVkRx

064.  ™e[u™k …ife fÞk hkufrzÞk …kf™k Wí…kË™ y™u  ðkðuŒh™e árüyu „wshkŒ, ¼khŒ{kt «Úk{ MÚkk™ Ähkðu Au ?

(A) f…k‚ (B) {„V¤e

(C) Œ{kfw (D) þuhze

065.  ™e[u™k{ktÚke fE ‚tÏÞk ™u 45 ðzu r™:þu»k ¼k„e þfkÞ ?

(A) 164430 (B) 160960

(C) 110380 (D) 293440

066.
2 2(500 400) (500 400)

500 400
  



(A)  2 (B) 4

(C) 8 (D) 6

067.  4 hª„ y™u 2  ƒU„Õ‚ ™e ®f{Œ 57,200 ÚkkÞ Au Œku 6 ®h„ y™u 3 ƒU„Õ‚™e ®f{Œ fux÷e Úkþu ?

(A) 1,14,400 (B) 85,800

(C) 1,43,000 (D) 85,500
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068.
180 15 12 20
140 8 2 55

  
  

= ?

(A) 
1
7 (B) 

4
5

(C) 2 (D) 4

069. 5 ðzu r™:þu»k ¼k„e þfkÞ Œuðe 6 y™u 34 ™e ðå[u ykðŒe ‚tÏÞkyku™e ‚huhkþ þkuÄku.

(A) 18 (B)  20

(C)  24 (D)   30

070. yuf ÷kEƒúuhe{kt hrððkhu ykðu÷ {w÷kfkŒeyku™e ‚huhkþ ‚tÏÞk 510 Au, y™u ƒkfe™k rËð‚ku™e ‚tÏÞk 240 Au. hrððkhÚke
þY ÚkŒkt 30 rËð‚™k {krn™k{kt ykðu÷ ‚huhkþ {w÷kfkŒeyku™e‚tÏÞk fux÷e nþu ?

(A)  250 (B) 276

(C)  280 (D) 285

071.  r…Œk™e ô{h 10 ð»ko …nu÷k …wºk™e ô{h™e ºký „ýe nŒe, 10 ð»ko …Ae r…Œk™e ô{h …wºk fhŒkt ƒ{ýe nþu, Œku Œu{™e
nk÷™e  ô{h™ku „wýku¥kh þkuÄku.

(A) 8 : 5 (B) 7:3

(C) 9 : 5 (D) 5 :2

072.
4050 450

x
  ™k ‚{efhý {kt  x ™e ®f{Œ þkuÄku.

(A) 9 (B) 49

(C) 81 (D) 100

073. yuf ykurV‚h {n¥k{ Ëir™f ðuŒ™Úke fhkh ykÄkrhŒ ™kýkt W…h Yk. 4,965 Úke r™ÞwõŒ ÚkÞu÷ nŒku, …htŒw fux÷kf rËð‚ku
„uhnksh hnuðk™u fkhýu Œu™u Yk. 3,894 {¤u Au, Œku fux÷k rËð‚ „uhnksh hÌkku nþu ?

(A) 3 (B) 4

(C) 2 (D) yuf…ý ™nª

074. yuf ð„o¾tz{kt 500  rðãkÚkeo Au. 40% yt„úuS ƒku÷e þfu Au, ßÞkhu ƒkfe™k VõŒ rnLËe ƒku÷e þfu Au. 20% su yt„úuS ƒku÷e
þfu Au Œu rnLËe …ý ƒku÷e þfu Au, Œku fw÷ yuðk fux÷k rðãkÚkeo Au su rnLËe …ý ƒku÷e þfu ?

(A) 420 (B) 390

(C) 275 (D) 340

075. yuf Ëwfk™Ëkh ™kuxƒwõ‚, Ëhuf™k 45 Yk. ÷u¾u ðu[e 4% fr{þ™™e f{kýe fhu Au, Œu …urL‚÷ ƒkuõ‚ …ý Ëhuf™k Yk. 80 ™k
Ëhu ðu[e 20% f{kýe fhu Au. òu Œu «rŒrË™ 10 ™kuxƒwõ‚ y™u 6 …urL‚÷ ƒu yXðkzeÞk {kxu ðu[u Au, Œku Œu fux÷e hf{™k
fr{þ™™e f{kýe fhþu ?

(A) Yk. 1,496 (B) Yk. 1,586

(C) Yk. 1,596 (D) Yk. 1,956

076. yuf ÔÞrõŒ Yk. 400, 2 ð»ko {kxu, Y. 550, 4 ð»ko {kxu y™u Y. 1200, 6 ð»ko {kxu rz…kurÍx Œhefu {qfu Au. Œu ÔÞrõŒ fw÷ ÔÞks
Yk. 1,020 {u¤ðu Au Œku ÔÞks™ku Ëh / xfk þwt nþu ?
(A) 5% (B) 10%
(C) 15% (D) 20%
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077. òu  [¢ð]rØ ÔÞks A {kr‚f ÷u¾u „ýðk{kt ykðu Œku Yk. 10,000 ™wt ðkr»kof 20% ÷u¾u 2 ð»ko™wt [¢ð]rØ ÔÞks fux÷wt Úkþu ?

(A) Yk. 4,400 (B) Yk. 4,600

(C) Yk. 4,641 (D) Yk. 4,680

078. yuf ‚{[Œw»fkuý (Rectangular) ykfkh™k ¾uŒh™wt ûkuºkV¤ 2,100 [ku.{e. Au. òu ¾uŒh™e ÷tƒkE 60 {exh nkuÞ Œku Œu™e
…rhr{rŒ fux÷e nþu ?

(A) 180 {e. (B) 210 {e.

(C) 240 {e . (D) W…h™k …ife fkuE ™nª

079.  ÷tz™™ku ‚{Þ rËÕne™k ‚{ÞÚke  5 f÷kf 30 r{r™x …kA¤ Au, òu rËÕne™ku ‚{Þ 0.2.f÷kf 35 r{r™x nkuÞ Œku ÷tz™™ku
‚{Þ þwt nþu ?

(A) 07.05 (B) 08.05

(C) 21.05 (D) 21.35

080. ¼khŒ™k fÞk hkßÞ{kt nk÷ ‚kiÚke ðÄw 5 ™kÞƒ {wÏÞ{tºke Œhefu nkuÆk W…h r™{ýqtf …k{u÷ Au ?

(A) fýkoxf (B) W¥kh«Ëuþ

(C) yktÄú«Ëuþ (D) „kuðk

081. ¼khŒ™k fÞk Wãku„  ‚knr‚f™u 2019 ™k ð»ko{kt  ykuMxÙur÷Þk™k ‚ðkuoå[Þ ‚L{k™ “ykuzoh ykuV ykuMxÙur÷Þk”Úke ‚L{krLkŒ
fhðk{kt ykÔÞk Au ?

(A) {ËwhkR r[LLkk r…Õ÷E (B) hkurnýe „kuzƒku÷u

(C) „kuËkðhe Ë¥kk (D) ‚w©e rfhý {Íw{Ëkh-þku

082.  ©e ÞÍËe ™kiþuhðk™ fkhtrsÞk™u 2020™ku …È©e …whMfkh fÞk ûkuºk™k Þku„Ëk™ {kxu …‚tË„e fhðk{kt ykðe nŒe ?

(A) ‚krníÞ y™u rþûký (B) ÔÞk…kh Wãku„

(C) f÷k (D) ðkMŒwf¤k / MÚkk…íÞ

083.  ‚ki «Úk{ rƒ™ yt„úuS ¼k»kk™e fE rVÕ{™u ð»ko 2020{kt rVÕ{™ku ykuMfkh yuðkuzo {¤u÷ Au ?

(A) „ktÄe (B) M÷{ zku„ r{r÷Þku™h

(C)   …uhu‚kRx (D) r…rhÞz yuLz ykuV  ‚UxuL‚

084.  ŒksuŒh{kt fÞk þçË™u ykuõ‚Vkuzo 2019 rnLËe ðzo ykuV Ä Þh ònuh fhðk{kt ykÔÞku Au ?

(A) ‚trðÄk™ (B) þkËe

(C) [kð÷ (D) ykÄkh

085.   26{e òLÞwykhe 2020™k hkus ¼khŒ{kt ™ðe rËÕne™k ÷k÷ rfÕ÷k ¾kŒu .......... ™k{™k  fkÞo¢{™ku þw¼kht¼ ÚkÞku Au ?

(A) yuf ¼khŒ ©uc ¼khŒ (B) {nkí{k„ktÄe 150{e sÞtrŒ ‚{khkun

(C) ¼khŒ …ðo 2020 (D) ƒtÄkhý yrÄf]ŒŒk …ðo

086. ò…k™u ƒ™kðu÷k “«u{ y™u …ezk” yu{ ƒt™u y™w¼ðe þfŒk hkuƒkux™wt þwt ™k{ yk…ðk{kt ykÔÞwt Au ?

(A) yurhf (B)  yu‚ux

(C) yu÷rð™ (D) yuVuèku
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087. fkuhku™k {nk{khe Ëhr{Þk™ „wshkŒ ‚hfkh îkhk nuÕ… ÷kR™ 1100 ™ku «kht¼ ™e[u™k …ife fE ƒkƒŒ™k r™ðkhý {kxu
fhðk{kt ykÔÞku Au ?

(A) „wshkŒ{kt ykR‚ku÷uþ™ yÚkðk nku{ õðkuhtxkE™ ÔÞrõŒyku™u þkherhf-{k™r‚f yt„u™e ‚{MÞkyku {kxu

(B) E{hsL‚e rhM…kuL‚ yuLz nuÕÚk r‚Mx{ r«…uzo™u‚ …ufus {u¤ððk {kxu

(C) fkuhku™k {nk{khe ‚k{u ÷ze hnu÷k ykhkuøÞ f{eoyku™u ðe{k ‚tƒrÄŒ «§ku yt„u

(D) „úknfku™e ‚whûkk y™u VrhÞkËku {kxu

088.  „wshkŒ™k «r‚Ø {rn÷k ‚krníÞfkh ‚w©e fwtËr™fk fk…rzÞk™wt Œ¾Õ÷w‚ .......... nŒwt.

(A) Þkrºkf (B) M™unÞkºke

(C) M™unÄ™ (D) Rþk{k

089.  {rn÷k xe-20 ðÕzo f… 2020 {kt ¼khŒeÞ xe{{kt h{™kh ‚kiÚke Þwðk ¾u÷kze fkuý nŒk ?

(A) ‚w©e þf™k rfðrLx™ (B)  ‚w©e þuVk÷e ð{ko

(C) ‚w©e …q™{ ÞkËð (D) ‚w©e Íw÷™ „kuMðk{e

090. feze™k fhzðkÚke Œus ƒ¤Œhk ÚkkÞ Au, fkhý fu ÷k÷ feze™k zt¾{kt .......... nkuÞ Au.

(A) ƒUòuEf yur‚z (B) Vkuhr{f yur‚z

(C) ykuõsr÷of yur‚z (D) ‚ÕVÞwrhf yur‚z

091.  1998{kt ¼khŒ îkhk fhkÞu÷ rîŒeÞ …h{kýw …rhûký fÞk ™k{u yku¤¾ðk{kt ykðu Au ?

(A) yku…huþ™ rðsÞ (B) yku…huþ™ þrõŒ

(C) yku…huþ™ ¼khŒ (D) yku…huþ™ rËrøðsÞ

092.  r¢Mfku„úkV ‚tÞtºk .......... W…Þku„{kt ÷uðkÞ Au.

(A) ‚w™k{e™e ‚t¼kð™kyku þkuÄðk (B) …]Úðe™k [wtƒfeÞ ûkuºk™ku ÏÞk÷ {u¤ððk

(C) ð™M…rŒ™e ð]rØ {k…ðk (D) ¼qft…™e ykð]r¥kyku {k…ðk

093. ™e[u sýkðu÷ ‚tMÚkk™ku y™u Œu™k {wÏÞ {Úkf(søÞk) …ife fE òuze ‚k[e ™Úke ?

(A) RrLzÞ™ ErLMxxâqx ykuV …uxÙkur÷Þ{ (IIP) - ËnuhkËq™

(B) ‚UxÙ÷ Vqz xuõ™ku÷kursf÷ rh‚[o ErLMxxâqx(CFTRI) - {i‚qh

(C) ™uþ™÷ ErLMxxâqx ykuV rzÍkR™ (NID) - y{ËkðkË

(D) ™uþ™÷ ƒkux™ef÷ rh‚[o ErLMxxâqx(NBRI) - fku÷f¥kk

094. ¼khŒ™e MðËuþe ƒ™kðx™e «Úk{ Œku… “Ä™w»k”™k ‚tË¼uo ™e[u™k …ife fÞk rðÄk™ ‚k[k Au ?

(1) Œu™e {khf ûk{Œk 38 rf.{e. ‚wÄe™e Au.

(2) Œu hkrºk™k ‚{Þu …ý ÷ûÞ …h r™þk™ ‚kÄe þfu Au.

(3) ¼khŒ™e ‚ki «Úk{ MðËuþe 155  45 fur÷ƒh ykrxo÷he „™ Au.

(4) Mðez™™e ƒkuVku‚o Œku…™e rzÍkE™ …hÚke ƒ™kððk{kt ykðe Au.

(A)  VõŒ 1 y™u 2 (B) VõŒ 2 y™u 4

(C) VõŒ 1, 2 y™u 3 (D) 1, 2, 3 y™u 4
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095. REN 21 þwt Au ?

(A) ‚kih Qòo™wt ‚kiÚke ðÄw Wí…kË™ fh™khe ft…™e.

(B) …w™: «kÃÞ Qòo MºkkuŒku …h™e ðirïf MŒh™e ™erŒ Au.

(C) …ð™ Qòo™wt ‚kiÚke ðÄw Wí…kË™ fh™khe ft…™e.

(D) yuðwt ‚kìVTxðuh Au, su …w™: «kÃÞ Qòo MºkkuŒku yt„u™e {krnŒeyku …qhe …zu Au.

096. nu{ hurzÞku W…„ún™u ‚tËuþk {kuf÷ðk {kxu fÞk W…„ún™u «MÚkkr…Œ fhðk{kt ykÔÞku Au ?

(A) r…‚ix (B) MðÞt

(C) xur÷Þku‚ (D) «Úk{

097. R‚hkuyu fÞk yirŒnkr‚f r{þ™ îkhk yuf ‚kÚku 104 W…„únku™u «MÚkkr…Œ fhe™u rðïrð¢{ «MÚkkr…Œ fÞkuo Au.

(A) GSLV-D06 (B) PSLV-D36

(C) GSLV-F06 (D) PSLV- C37

098.  ð»ko 2020 {kt ÔÞrõŒ„Œ fuxu„he™ku ‘‚w¼k»k[tÿ ƒkuÍ yk…r¥k ÔÞðMÚkk…™” yuðkuzo fku™u yu™kÞŒ ÚkÞku Au ?

(A) ©e fw{kh {wLLk™®‚n (B) ©e fw{kh {t„÷ ®‚n

(C) ©e fw{kh {t„÷{ (D) ©e {t„÷ fw{kh ®‚n

099. …h{kýw r{‚kR÷ K-4 ‚tË¼uo ™e[u™k rðÄk™ku [fk‚ku.

(1) ¼khŒ{kt 19 òLÞwykhe 2020™k hkus ‚V¤ …heûký fhðk{kt ykÔÞwt.

(2) K-4 r{‚kR÷™e {khf ûk{Œk 4500 rf.{e. ‚wÄe™e Au.

(3) yktÄú«Ëuþ™k ‚{wÿ ŒxuÚke ytzh ðkuxh Ã÷uxVku{o …hÚke ‚V¤ …heûký fhðk{kt ykÔÞwt Au.

WõŒ …ife fÞwt / fÞk rðÄk™ / rðÄkLkku ‚k[wt / ‚k[k Au ?

(A) {kºk 2 (B) {kºk 1 y™u 3

(C) {kºk 2 y™u 3 (D) 1, 2, y™u 3

100. CERT-IN þwt Au ?

(A) ‚kìVTxðuh yuõ‚…kuxo Þwr™Þ™ (B) ‚kÞƒh ‚whûkk {kxu sðkƒËkh ‚tMÚkk

(C)  ‚rxorVfux™e ¾hkE fhŒwt ‚kìVTxðuh (D) ºký …ife yuf …ý ™nª
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101. Scientific Management was first used in USA by Louis Brandies in
(A) 1905 (B) 1910
(C) 1925 (D) 1950

102. _______ is known as father of scientific management
(A) Charles Babbage (B) FW Taylor
(C) Louis Brandies (D) H Fayol

103. Frank Gilbreth given the theory of
(A) Neo – Classical Theory (B) Contribution of Gnatt
(C) Best way of doing a job (D) Modern Theory

104. Raising Finance for joint stock companies by
(A) Issue of shares (B) Issue of debentures
(C) Loan advances from bank (D) All of the above

105. The maximum number of memberships in private limited company is limited to
(A) 20 (B) 50
(C) 100 (D) 200

106. Types of organization structure are
(A) 8 (B) 6
(C) 4 (D) 2

107. Inclination of the person towards definite job is determined by
(A) Medical Test (B) Trade Test
(C) Psychological Test (D) Aptitude Test

108. Training about specialized courses in various management, productivity and courses for imparting
is given to
(A) Top Management (B) Middle Management
(C) Lower Management (D) All of the above

109. Vestibule training for workers is
(A) For large number of trainees for similar skill, quickly and uniformly
(B) For less number of trainees for variable skill
(C) On the job training
(D) Apprenticeship

110. In TWI scheme ratio of supervisors (trainees) and instructor is
(A) 5 : 1 (B) 10 : 1
(C) 50 : 1 (D) 100 : 1

111. Flow process chart is graphic representation of _______ delays and shortage occurring during
production
(A) Operation (B) Transportation
(C) Inspection (D) All of the above

112. Job card is also known as
(A) Work ticket (B) Job order
(C) Route card (D) Performance card

113. Continuous production is also known as
(A) Mass Production (B) Unit Production
(C) Batch Production (D) Quantity Production
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114. One of the external factors affection productivity is
(A) Plant layout (B) Work study
(C) Material handling (D) Taxation

115. Profit/Capital employed is called
(A) Productivity index (B) Labour productivity
(C) Overall productivity (D) Machine Productivity

116. An _______ follows a Plan-Do-Check-Act, or PDCA, Cycle
(A) EMS (B) EMP
(C) EIA (D) ESA

117. At present who is Minister of Environment, Forest and Climate Change
(A) Shri Gajendra Singh Shekhawat (B) Shri Santosh Kumar Gangwar
(C) Shri Pralhad Joshi (D) Shri Prakash Javadekar

118. The Principal Bench of the NGT is in New Delhi. It has regional benches in
(A) Pune (West), Bhopal (Central), Chennai (South) and Kolkata
(B) Mumbai (West), Bhopal (Central), Chennai (South) and Kolkata
(C) Pune (West), Bhopal (Central), Bangalore (South) and Kolkata
(D) Pune (West), Bhopal (Central), Chennai (South) and Bhuvneshwar

119. As per rules “Final Mine Closure Plan must be submitted _______ prior to the proposed closure
of the mine”.
(A) 3 Years (B) 2 Years
(C) 1 Years (D) 6 Months

120. Process to bring back the degraded land to a normal stage by a special treatment involving some
mitigation measures for disturbed environmental condition created through mining activities is
called
(A) Reclamation (B) Restoration
(C) Rehabilitation (D) Renovation

121. A locomotive can be used in a mine, where the gradient of the road way is
(A) Steep (B) Undulated
(C) Mild (D) Any

122. In CEAR 2010 “High Voltage Direct Current (HVDC)” means Direct Current (DC) voltage
above _______ Volts used for transmission of power;
(A) 1100 (B) 3300
(C) 100000 (D) 330000

123. Idlers in belt conveyors are place at an interval of _______ m to _______ m
(A) 2 – 2.5 (B) 2.5 – 3
(C) 1 – 1.5 (D) 1.5 – 2

124. Which of the following loading machine, used for drivage has compressed air powered bucket,
pushed into the muck and made to scoop the muck with an upward-and-over motion for discharge
into a tub behind loader?
(A) Gathering arm loader (B) Duckbill loader
(C) Rocker shovel (D) Gate end loader
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125. _______ type of fire extinguishers can be used for quenching electrical fires
(A) Soda Acid (B) Foam
(C) CO2Powder (D) Water

126. According to the MMR 1961 the annual return must be submitted on or before _______ every
year.
(A) 10th Feb (B) 20th Feb
(C) 25th Feb (D) 31st March

127. According to the legislation what should be the experience for Mate’s exam after diploma?
(A) 6 months (B) One year
(C) One year six months (D) Two years

128. The CMR-1957, MMR-1961 are framed under _______
(A) Mines Rules 1955 (B) Mines Act 1952
(C) Mining Lease Rules 1956 (D) Mine and Minerals (Reg. and Dev.) Act 1957

129. As per MMR 1961 plan & sections for open cast mn=ine mine should be up to date within
_______ months
(A) One (B) Three
(C) Six (D) Twelve

130. As per MMR 1961 annual return should be submitted on or before _______ day of every February
(A) 1st (B) 15th

(C) 20th (D) 28th or 29th

131. As per the Mines Rules 1955, the standard shelter floor area should not be less than _______
sqm.
(A) 5 (B) 10
(C) 12 (D) 14

132. According to Mines Rules 1955 which do not fall under the list of accidents?
(A) By roof fall (B) By explosive
(C) By labour fighting (D) By dumper

133. Mines Act came in to existence in the year _______
(A) 1962 (B) 1952
(C) 1968 (D) 1958

134. A notice to the chief Inspector is to be given for the commencement of mining operation by
(A) Owner (B) Agent
(C) Manager (D) Any one

135. As per mines act the day means a period of _______ hours starting from _______
(A) 24, midnight (B) 24, shift start time
(C) 8, midnight (D) 8, shift start time

136. The appointment of the welfare officer is prescribed under
(A) Mines Rules (B) Mines Vocational Training Rules
(C) Coal Mines Regulation (D) Metalliferous Mines Regulation

137. According to Mine recue rules 1985, at every below ground mine where, more than _______
persons are ordinarily employed below ground and there is no rescue station within its radius of
_______ kms, a rescue room must be established
(A) 100, 35 (B) 150, 50
(C) 200, 50 (D) 100, 50
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138. The in charge of a rescue room must have:
(A) Unrestricted Manger’s certificate, 3 years’ experience with rescue training
(B) Unrestricted Over man’s certificate, 3 years’ experience with rescue training
(C) Unrestricted Foreman’s certificate, 3 years’ experience with rescue training
(D) All of the above

139. In case of an accident in a rescue station or rescue room arising out of the use of any rescue
apparatus a written report thereof shall be sent, within _______ hours of such accident, by the
Superintendent to the Chief Inspector and Regional Inspector in _______ aforesaid.
(A) 24, Form III (B) 24, Form IV
(C) 24, Form II (D) 48, Form II

140. Except in cases where the delay involved may result in danger to life, rescue trained persons
shall not proceed beyond any place where a base is to be established until there have been provided
at such base:-
(A) Two persons, of whom one shall be a qualified medical practitioner if practicable, and other

shall be a rescue trained person;
(B) Three persons, of whom one shall be a qualified medical practitioner if practicable, and Rest

two shall be rescue trained persons;
(C) Two rescue trained persons who are regular employee of the mine
(D) Three persons, of whom one shall be a qualified medical practitioner, if practicable, one

shall be a rescue trained persons and one shall be a regular employee of the mine;
141. According to vocational Training Rules, the standard training duration for different categories

of workers will be the number of days indicated in the Revised Training Schedules read with
D.G. (Legis) Cir. No. 4 of 1975, where each day consists of _______ hours training from duty
hours.
(A) 4 (B) 8
(C) 2 (D) 6

142. According to VT rules, Training of Shot firers, Mining Sirdars, Over men, Machine Operators,
Timber Mistries etc. must be provided
(A) at the time of joining (B) Every after six month
(C) once in every year (D) Once in every 2 years

143. As per DGMS Circular No. 7 of 1997, permissible Peak Particle Velocity in mm/sec at the
foundation level of kachha/brick structure in mining for frequency 8-25 Hz
(A) 5 (B) 10
(C) 15 (D) 25

144. As per the Gujarat Minor Mineral Concession Rules, 2017, The quarry permit holder shall
submit online monthly e-return including details of mineral usage as per _______ before the
tenth day of the succeeding month
(A) Form S (B) Form Z
(C) Form Q (D) None of the above

145. In the Gujarat Minor Mineral Concession Rules, 2017,as per rule 49 [1(a)] the quarry lease
holder shall furnish to the Government a monthly return in electronic _______ before the tenth
day of the succeeding month
(A) Form A (B) Form Q
(C) Form R (D) None of the above
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146. In exercise of the powers conferred by _______ of the Mines and Minerals (Development and
Regulation) Act, 1957 (67 of 1957), the Central Government empowered to makes the rules for
mines and minerals
(A) section 10 (B) section 13
(C) section 15 (D) section 17

147. For safety, welfare, and health of workers employed in mines, which of the following monitors
safety
(A) Pit safety committee (B) CIL Safety Board
(C) Bipartite/Tripartite Committee (D) All of the above

148. Maximum Exposure Limit of dust prescribed for 8 hours’ time weighted average in Mine working
environment.
(A) 5 Mg/m³ (B) 3 Mg/m³
(C) 7 Mg/m³ (D) 10 Mg/m³

149. Voltage shall not exceedVolts for hand held portable apparatus used in the Mines as per CEA
Regulations. 2010.
(A) 230 (B) 125
(C) 250 (D) 110

150. As per 11th National Safety conference the contractor shall not employ or terminate his worker
without the knowledge of the
(A) Mine Management (B) Regional Inspector
(C) Labour Officer (D) DGMS

151. PARIVESH seeks to automate the process of submitting and tracking application for clearances
for
(A) Environmental
(B) Forest
(C) Wildlife and Costal Regulation zone clearances
(D) All of the above

152. According to CEAR 2010, apparatus which are incapable of causing explosion of inflammable
gas or vapour are called
(A) Flame proof enclosures (B) Intrinsically safe apparatus
(C) Fire proof apparatus (D) Shock proof apparatus

153. Now-a-days motive power for the wagon drill may be
(A) Compressed Air (B) Hydraulic
(C) Both (A) and (B) (D) None of the above

154. In Down the hole hammers the rotational speed of the drill rod is nearly _______ rpm
(A) 15-25 (B) 26-50
(C) 51-75 (D) 76-100

155. _______° off vertical may be considered to be the limit for inclined drilling of nearly vertical
bench
(A) 40 (B) 30
(C) 20 (D) 10

156. Jack hammer requires about _______ m3 of air at 5-6 kg/cm2

(A) 5 (B) 4
(C) 6 (D) 2
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157. Down the hole percussive drills are operated by compressed air at _______ kg.cm2

(A) 8-10 (B) 3-4
(C) 6-7 (D) 10-12

158. A _______ is a drill for drilling upward and derives its name from its wide spread use in metal
mining
(A) Drifter (B) Stoper
(C) Borer (D) Sinker

159. A _______ is a portable carriage which has arms for mounting of 2 or more drills
(A) Jumbo (B) Rock drill
(C) Drifter (D) Borer

160. In tricone roller bit there are _______ truncated cones and are placed at _______°
(A) 3, 60 (B) 4, 90
(C) 3, 120 (D) 4, 45

161. Hard metal pieces of _______ shape are sintered on the head in button bits
(A) Spherical (B) Conical
(C) Hemispherical (D) Pyramidal

162. Which of the following feed mechanism is not available in drilling machines
(A) Pneumatic (B) Hydraulic
(C) Mechanical (D) Electrical

163. Point out the wrong statement in relation to DTH
(A) Used for shallow holes
(B) Uses less air because drill exhaust help the clean hole
(C) Excellent penetration rate
(D) Hard rock drilling to great depths

164. Find the incorrect statement regarding Foam Flushing
(A) Used in sand formations (B) Used at shallow depth
(C) Used with large dia holes (D) Used in formation sensitive to water

165. In blasting chemical energy of explosive is converted in to _______ energy
(A) Thermal (B) Mechanical
(C) Both (A) and (B) (D) None of the above

166. VOD of primer is about _______ m/s
(A) 2500 (B) 5000
(C) 6000 (D) 7000

167. Which explosive causes headache after a long exposure
(A) Gun Powder (B) Slurry
(C) Nitroglycerine (D) ANFO

168. In ANFO _______ (oil) is mixed is the range of _______ %
(A) Diesel, 5-6 (B) Kerosene, 5-6
(C) Diesel, 8-10 (D) Kerosene, 8-10

169. Slurry explosives are in the form of
(A) Powder (B) Gel
(C) Cake (D) Liquid
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170. Find out the wrong statement with regard to emulsion explosives
(A) Mixture of two liquids (B) Not water resistant
(C) More fluid than slurry (D) Claims to have lower ingredient cost

171. An example of P5 explosive is
(A) Viking (B) Unisax
(C) Soligex (D) Godyne

172. _______ explosives are initiated by detonator or detonating fuses.
(A) High (B) Low
(C) Both (A) and (B) (D) None of the above

173. Milli second delay detonator is also known as _______ detonator
(A) Half second (B) Long delay
(C) Ordinary delay (D) Short Delay

174. The resistance of low tension detonator with a 45 m long shotfiring cable is about _______ ohms
(A) 8 (B) 7
(C) 6 (D) 5

175. Current required for ignition of the fuse head is _______ amps
(A) 0.5 (B) 1.5
(C) 1.0 (D) 0.8

176. Burning speed of a safety fuse is about _______ sec/met
(A) 200 – 220 (B) 150 – 270
(C) 100 – 120 (D) 130 – 150

177. The detonating fuse consists of a core of _______
(A) TNT (B) PETN
(C) ASA (D) AN

178. Detonating fuses are available in _______ gms/m and _______ gms/m. for commercial explosives
(A) 6, 8 (B) 8, 10
(C) 6, 9 (D) 6, 10

179. A magazine construction has to be approved by the _______ of explosives
(A) Controller (B) Inspector
(C) Director (D) Chief Controller

180. According to licence in Form L, high explosives can be stored up to _______ kg
(A) 10000 (B) 15000
(C) 20000 (D) 25000

181. A portable magazine requires a license from the _______ of explosives
(A) Controller (B) Inspector
(C) Chief Controller (D) Director

182. Which of the following cut is effective in hard, brittle and homogeneous ground
(A) Wedge Cut (B) Fan Cut
(C) Burn Cut (D) Drag Cut

183. A blasting with no undercut in coal mines is known as
(A) Solid Blasting (B) Blasting off the solid
(C) Both (A) and (B) (D) None of the above
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184. An explosive carrier can carry only 1 case containing _______ kg of explosive but Director of
Mines Safety may give relaxation.
(A) 5 (B) 10
(C) 15 (D) 20

185. If firing with safety fuse, no person should enter the site of blasting for _______ minutes after
firing
(A) 30 (B) 10
(C) 45 (D) 60

186. SMS and PMS are _______ type of explosives
(A) Emulsion (B) ANFO
(C) LOX (D) Slurry

187. Which of the following is true for diamond drilling for core recovery?
(A) Diamond drilling may be rotary or percussive
(B) For deep holes the feed mechanism is screw feed
(C) For shallow holes the feed mechanism is hydraulic
(D) Bentonite is used as drilling mud

188. To collect the core of the rock drilled, a device known as _______ is used.
(A) Derrick (B) Casing
(C) Barrel (D) Bit

189. As per the Mines Rules 1955, for every mine wherein more than _______ persons are ordinarily
employed, the owner, agent or manager shall constitute a safety committee for promoting safety
in the mine
(A) 100 (B) 200
(C) 500 (D) 300

190. Seismograph measures ground vibration in _______ lateral directions.
(A) 3 (B) 4
(C) 2 (D) 6

191. _______ identifies the relative proportions of solids and voids
(A) Porosity (B) Permeability
(C) Durability (D) Plasticity

192. A disc sample was failed at 628 kg load. The disc was of 4.0 cm dia and 2.0 cm thick. Its Brazilian
tensile strength will be _______ kg/cm2

(A) 50 (B) 25
(C) 75 (D) 100

193. A sample of 12.5 cm length was put under tension and after elongation its length was 13.0 cm.
What was the strain?
(A) 0.4 (B) 0.04
(C) 4.0 (D) 0.004

194. Safe cover is a zone
(A) In which no subsidence is there. (B) Beyond which no subsidence is there.
(C) Beyond which subsidence is tolerable. (D) In which subsidence is tolerable.
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195. While testing a place, official should stand
(A) To the down side of the place being tested.
(B) Below the place to be tested.
(C) In any direction but not under the place to be tested.
(D) To the rise side of the place to be tested.

196. Rocks in coal mining areas exerts a pressure of nearly _______ kg/cm2 for every meter depth
from the surface
(A) 0.5 (B) 0.2
(C) 1.0 (D) 0.8

197. The ratio of the maximum load or stress that a soil can sustain to the actual load or stress that is
applied is known as _______
(A) Factor of Security (B) Factor of Safety
(C) Factor of Strength (D) Reliability Ratio

198. The edges of the coal pillar are damaged due to
(A) Compressive Force (B) Tension Force
(C) Shear Force (D) Torsion Force

199. Rocks are called _______ when bedding planes in them are more than 1.2 m apart
(A) Massive (B) Bedded
(C) Flaggy (D) Compact

200. Pressure arch in longwall workings has its apex at a min. height above the seam nearly _______
times the length of the face
(A) 1.5 (B) 2.0
(C) 3.0 (D) 2.5

201. The compressive strength of most of the rocks is _______ the tensile strength of that rock.
(A) Equal to (B) Greater than
(C) Lesser than (D) Can’t say

202. Angle between the vertical and the final line of break is called
(A) Angle of draw (B) Angle of fracture
(C) Angle of subsidence (D) Angle of Crack

203. Compressive strength of coal varies but may be considered as _______ kg/mm2

(A) 5.25 (B) 4.25
(C) 3.25 (D) 2.25

204. A good roof or side gives a _______ sound when tapped with a stick
(A) Heavy (B) Dull
(C) Drummy (D) Ringing

205. The most common method of rock testing is the _______ test
(A) Uniaxial Compressive strength (B) Brazilian
(C) Point Load strength Index (D) Tri axial

206. Mostly the hydraulic oil used in hydraulic props contain _______ % of oil and _______ % of
water
(A) 95, 5 (B) 85, 15
(C) 15, 85 (D) 5, 95
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207. Which of the following is not a type of failures occur in a mine or quarry:
(A) Planar failure (B) Wedge failure
(C) Conical failure (D) Circular failure

208. A _______ Occurs as a result of vertical structures moving out and down due to lack of
confinement.
(A) Planar failure (B) Wedge failure
(C) toppling failure (D) Circular failure

209. _______ are a useful means of measuring movement in cracks that appear on a bench.
(A) Strain indicators (B) Inclinometers
(C) Flatjacks (D) Extensometers

210. Bonded and Un-bonded stain gages are types of electrical _______ strain gages.
(A) Capacitor (B) Inductance
(C) Transistor (D) Resistance

211. Tuckerman strain gage is based upon _______ principal.
(A) Electrical (B) Acoustical
(C) Optical (D) Mechanical

212. “Failure will occur in a material when the maximum shear stress at a point in the material
reaches to a specific value of shear strength” This is according to _______ theory:
(A) Griffith (B) Coulomb – Navier
(C) Mohr (D) Adler

213. Compressive strength of marble is about _______ psi
(A) 15000 (B) 30000
(C) 45000 (D) 60000

214. Mostly in rocks _______ strength has the maximum value.
(A) Point Load (B) Indirect tensile
(C) tensile (D) Flexural

215. The compressive strength of rock _______ with the rate of loading
(A) Increases (B) Decreases
(C) Doesn’t change (D) can’t say

216. Photo elasticity is a useful method for making quantitative stress analysis in _______ dimensions
(A) One (B) Two
(C) Three (D) Two and three

217. Rock quality designation (RQD) was introduced by _______ in 1963.
(A) Bieniawski (B) Barton
(C) Deere (D) Lien and Lunde

218. Suitable L/D ratio for regular specimen for compressive strength test is
(A) 1.5 – 1.8 (B) 2.5 – 2.8
(C) 3.5 – 3.8 (D) Not specified

219. The displacement parallel to nominal fracture plane is called the _______ displacement?
(A) Compressive (B) Tensile
(C) Shear (D) Parallel

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight



AQK - MASTER ] 22 [ P.T.O.

220. Which of the following is an established theory of failure?
(A) Tuckerman’s Theory (B) Coulomb-Navier Theory
(C) Newtonian Theory (D) Vutukuri-Lama Theory

221. As per the ISRM standards, the ends of the rock specimen for rock testing should be flat to
_______ mm.
(A) 0.1 (B) 0.2
(C) 0.01 (D) 0.02

222. The 54 mm diameter core drilling refers to _______
(A) NX (B) BX
(C) AX (D) EX

223. A design reliability of _______ is generally accepted in open pit design, which means allowing
_______ of all wedges actually to fail.
(A) 70%, 30% (B) 80%, 20%
(C) 90%, 10% (D) 60%, 40%

224. What is creep in the behavior of rock under loading?
(A) Time dependant deterioration of rock
(B) Anisotropy related deterioration of rock
(C) Geological disturbance related deterioration
(D) Water affected deterioration

225. Which of the following is not a parameter for RMR rating of rock?
(A) Uniaxial compressive strength (B) RQD
(C) Ground water condition (D) Depth of deposit

226. Which of the following laboratory tests can simulate the insitu condition?
(A) Unconfined compressive strength (B) Flat jack test
(C) Tri axial test (D) Brazilian test

227. Break Even Stripping Ratio generally _______ than/to the ordinary stripping ratio
(A) Lower (B) Higher
(C) Equal (D) Can’t say

228. Angle of stable pit slope in case of very hard metamorphic and igneous rocks is _______ degrees
(A) 40 – 50 (B) 50 – 60
(C) 60 – 70 (D) 70 – 80

229. In open cast mines the width of the bench should be
(A) Equal to height (B) Less than height
(C) not less than height (D) Any

230. At curves on haul roads super elevation is given at _______ of the road
(A) Inner side (B) Outer side
(C) Center of (D) Any where

231. For better safety the optimum gradient of the haul road should be around _______ degrees
(A) 10 (B) 7
(C) 5 (D) 3
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232. The first cut given on the virgin land to start open cast mines is called
(A) Box Cut (B) Initial Cut
(C) Opening Cut (D) All of the above

233. Which of the following systems of casting by drag line is not a side casting system
(A) Extended (B) Horse Shoe
(C) Tandem (D) None of the above

234. Which of the following normally doesn’t require blasting
(A) Shovel (B) Front End Loader
(C) Surface Miner (D) All of the above

235. HEMM performs the following operations:
(A) Cutting (B) Extraction
(C) Transportation (D) All of the above

236. Which shovel has the largest cycle time
(A) Diesel (B) Electrical
(C) Hydraulic (D) Undetermined

237. Which shovel has the greatest bucket fill factor
(A) Diesel (B) Electrical
(C) Hydraulic (D) Undetermined

238. “15/90 walking drag line”, 90 stands for
(A) Bucket capacity (B) Boom height
(C) Boom length (D) Disposal Distance

239. Tube members of the boom of big draglines are filled with _______ up to a certain pressure
(A) Hydrogen (B) Nitrous oxide
(C) Hydrogen Sulphide (D) Nitrogen

240. Which of the following is a walking mechanism in drag lines
(A) Eccentric Type (B) Hydraulic Ram Type
(C) Both (A) and (B) (D) None of the above

241. As a thumb rule the capacity of dumper should be such that it is filed by _______ shovel buckets
(A) 2 – 3 (B) 4 – 6
(C) 8 – 10 (D) + 10

242. Which of the following is a continuous excavator
(A) Drag line (B) Bucket Wheel Excavator
(C) Shovel (D) Front End Loader

243. The bucket wheel excavators are specified by bucket size given in
(A) Litres (B) Tonnes
(C) Cu. M. (D) Cu. Yd.

244. Lowering and raising of the boom of the BWE is termed as
(A) Luffing (B) Swinging
(C) Raising and Dropping (D) Maneuvering
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245. Which of the following type of buckets are used in Dragline
(A) Overturning (B) Side Discharging
(C) Bottom discharge (D) All of the above

246. A shovel which digs soil, rock or ore, below the level of a bench on which it stands is called
(A) Pull Shovel (B) Back Hoe
(C) Drag Shovel (D) All of the above

247. Which machine of the following has least instantaneous demand of power
(A) Shovel (B) Drag line
(C) Front End Loader (D) BWE

248. Which of the following machine can effectively be used for reclamation work
(A) Shovel (B) Front End Loader
(C) Drag line (D) BWE

249. The specification of the tyre as 18.00 X 25 X 24 means
(A) Width of tyre X Ply Rating X Rim dia in inches
(B) Width of tyre X Rim dia in inches X Ply Rating
(C) Ply Rating X Rim dia in inches X Width of tyre
(D) Rim dia in inches X Width of tyre X Ply Rating

250. In tyres central wear is caused when tyres are _______ inflated
(A) Over (B) Under
(C) Correctly (D) Can’t say

251. In _______ dozer cutting edge and blade are at right angles to the longitudinal axis of the tractor
(A) Tilt (B) Push
(C) Angle (D) Straight

252. Wire ropes are made from wires of _______ having high tensile strength.
(A) High Carbon Steel (B) Plain Carbon Steel
(C) Mild Steel (D) Steel

253. Which capping method is not permitted for winding ropes
(A) Coned-Socket (B) Split Capel with rivets
(C) Reliance capel (D) All of the above

254. The dia of the headgear pully should be at least _______ times the rope dia
(A) 100 (B) 200
(C) 150 (D) 250

255. The maximum life of a winding rope under the regulations is _______ years, but Director of
Mines Safety may give an extension or restrict the life.
(A) 4.5 (B) 3.5
(C) 5 (D) 7

256. Which is a mechanical breaking system
(A) Dynamic Brakes (B) Eddy current Brakes
(C) Thruster Brakes (D) Regenerative Brakes

257. Most compressors are provided with _______ to separate condensed water from the compressed
air
(A) Water condenser (B) Water Arrester
(C) Water Separator (D) Water Trap
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258. Ratio of “Actual air indicated power” and “Brake power of prime mover” is _______ efficiency
(A) Mechanical (B) Volumetric
(C) Isothermal (D) Overall

259. Which of the following is an advantage to compressed air machines over electrical machines
(A) Transmission (B) Heat generation
(C) Utilisation (D) All of the above

260. Which of the following is true for underground metal mining as compared to underground coal
mining?
(A) In both the electrical drills are suitable
(B) Most coal deposits are bedded and metal deposits are non bedded type
(C) Underground mining of metal is much simpler
(D) Sampling and assaying are more important in coal mining

261. Which of the following is essential for preparation for both sublevel stoping and block caving?
(A) Undercut (B) Sublevel
(C) Ring drilling (D) Slot

262. Which of the following is not an advantage with cut and fill stoping?
(A) Safe method (B) Less development
(C) Ventilation is good (D) Continuous flow of ore

263. In the Jack hammer the rifle bar and ratchet arrangements are provided for _______
(A) Slight rotation of rod (B) Movement of rod
(C) Air consumption (D) Pressure increment

264. The Dipper in the shovel means:
(A) Bucket (B) Swing mechanism
(C) Traction system (D) Moving mechanism

265. In which method of underground metal mining the drilling rigs capable of drilling large diameter
(of 150-200mm diameter) and long holes (60-70m) are used?
(A) Sublevel stoping (B) Sublevel caving
(C) Long hole stoping (D) Shrinkage stoping

266. _______ is an arrangement that prevents oversized rock from entering an ore transfer system/
orepass.
(A) Chute (B) Draw point
(C) Finger raise (D) Grizzly

267. Ward Leonard method is used for the _______
(A) Winding speed control (B) Belt conveyor braking
(C) Rope haulage movement (D) Loco haulage braking

268. A _______ is a drill for drilling upward and derives its name from its wide spread use in metal
mining
(A) Drifter (B) Stoper
(C) Borer (D) Sinker

269. The debris from bottom of shaft is removed to the surface by a bucket known as
(A) Kibble (B) Bowk
(C) Hoppit (D) All of the above
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270. Travelling road should not be less than _______ m height.
(A) 1.8 (B) 2.8
(C) 3.8 (D) 4.8

271. Find the power that a pump has to develop to pump 2000 kg of water per minute to a height of
50 m. Neglect loss and take g = 9.8 m/s2

(A) 16.3 KW (B) 1.63 KW
(C) 163 KW (D) 0.163 KW

272. A locomotive weighs 15 tef and the adhesion to the tracks is 2246 N per tef. What will be tractive
effort ?
(A) 2261 N (B) 2231 N
(C) 33690 N (D) 1497 N

273. If the total head of a pump is 150 M and the actual head is 120 M, what is the percentage loss of
energy ?
(A) 25% (B) 20%
(C) 30% (D) 35%

274. Veins and cavity filling deposits are _______ deposits
(A) Magmatic (B) Metasomatic
(C) Sedimentary (D) Hydrothermal

275. Which of the following is not a placer deposit
(A) Mica (B) Monozite
(C) Tin (D) Gold

276. Which of the following is not a type of electrical brakes?
(A) Eddy Current Braking (B) Dynamic Braking
(C) Thruster Braking (D) Regenerative Braking

277. A shaft is always sunk in the _______ of a metal mine
(A) Hanging wall (B) Footwall
(C) Ore body (D) Any where

278. Thicker the ore body _______ is the level interval
(A) Lesser (B) Higher
(C) Very less (D) doesn’t affect

279. For raises up to 8 m height, inclination of 40° – 60° and strong wall rocks the simplest method is
(A) Drop raising (B) Open raising
(C) Raise borers (D) Alimak raise climber

280. Alimake Raise Climber can be used only or the raises at an angle of _______ from horizontal
(A) + 60° (B) + 50°
(C) + 40° (D) + 70°

281. VCR stands for
(A) Vertical Crater Retreat (B) Vertical Cone Retreat
(C) Vertical Charge retreat (D) None of the above

282. Cut & Fill stope is _______ stope
(A) Naturally supported (B) Artificially supported
(C) Caved (D) None of the above
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283. For thick, steep, week ore and week walls which of the following method is suitable
(A) Cut & Fill (B) Room & Pillar
(C) Sub Level Caving (D) Shrinkage

284. A pillar left for supporting the main (upper) level is termed as
(A) Sill pillar (B) Crown Pillar
(C) Rib pillar (D) Post Pillar

285. In sub level stoping method the object of slot raise is
(A) Man passing (B) Service raise
(C) Ventilation (D) Free face

286. By _______ means temporary accumulation of the broken are in the stope.
(A) Storage (B) Shrinkage
(C) Inventory (D) Blockage

287. The filling material in cut and fill stoping may be
(A) Waste rock (B) Mill tailings
(C) Slag of smelter plant (D) All of the above

288. In square set stoping method walls and back of the stope are supported by
(A) Framework of timber (B) Roof bolts
(C) Wire net (D) Concrete

289. A network of finger raises and draw point is used in _______ stoping method
(A) Square set (B) Sub level
(C) Shrinkage (D) Block caving

290. Length of base line in primary triangulation is _______ KM
(A) 1 – 3 (B) 5 – 15
(C) 15 – 25 (D) < 1

291. Satellite station may be
(A) Tower (B) In Air
(C) Flag Pole (D) Church Spires

292. The highest accuracy in mine surveying can be achieved by
(A) Theodolite (B) EDM
(C) GPS (D) Total Station

293. Planimeter can be used for measuring
(A) Area (B) Volume
(C) Enlargement (D) Linear distance

294. Verticality of wire in shaft is checked by
(A) Theodolite (B) Light
(C) Rings (D) Level

295. In underground surveying, stations are fixed in the roof due to
(A) Darkness (B) Ventilating Air
(C) Humidity (D) Permanency

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight



AQK - MASTER ] 28

296. As per MMR, scale of plan of a large open pit mine should be

(A) 1 : 200 (B) 1 : 2000

(C) 1 : 5000 (D) 1 : 10000

297. In a hilly mining area most suitable method of surveying is

(A) Chain & Compass (B) Traversing

(C) Plain Tabling (D) Tachometry

298. If latitude is , the co-latitude will be

(A)  – 90° (B)  – 180°

(C) 90° –  (D) 180° – 

299. Increase in intermediate sight (IS) with respect to back sight indicates that ground is _______

(A) Raising (B) Falling

(C) Undulating (D) Can’t say

300. Least count of telescope staff is

(A) 0.05 cm (B) 0.5 cm

(C) 5 cm (D) 10 cm

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight

Dell
Highlight




